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o)
1) nat :
Ig‘iggﬂfﬂd Gita was sald to have been

- compiled by
(a) Shankaracharya (B) Madvacharya

(C) Veda Vyasa (DY} Vallabhachanra

2. What is the nature of the image formed due 2.
to concave mirror when object is placed
beyond centre of curvature ?

(A) Real and inverted
(B) WVirtual and erect
{C) Real and erect
(D) Virtual and inverted

3. During heavy exercise, we get cramps in | 3. ¥ =A™ % o, 0 i ==

the legs due to the accumulation of FHTF EI’M?IET i
(A) Carbon dioxide (B) Lactic acid (A) T SEHAIFEE (B) wftesh 3
(C) Alcohol (D) Water (C) e (D) =&
4. Sodium hydrogencarbonate on heating 4. ﬁﬁﬂqm@iﬂmﬂaﬁ“ﬁﬂﬂﬁﬂ___-
produces e F B )
(A) Sodium hydroxide () e TEgeEEE
(B) Sodium oxide (B) Hifeam ATTETEE
(C) Sodium carbonate () difEam FERE
(D) Sodium (D) wifEEw
5. The land cultivated by Kurus was called as 5. FEA ﬁg?ﬁﬂ v
(A} Bahudhanyaka (B) Adiroopa (A) (B) m
(C) Prajotpathi (D) Angeerasa (C) (@) A
6. An instrument for measuring the speed of 5. ﬂ'lg‘#iﬂﬁlmi'fﬂ‘&i%
wind I (A) STEM
{A) Odometer (8)
(B) Speedometer (©)
(C) Anemometer ()
(D) Barometer
- 1 % T, A w5 % A
_ After Gupta dynasty, in the middle of 7. a9 3
i Erlfr: [.‘-anfurg,r A}[r}, ___ established 3 vaTE T FEE TN e
supremacy over Punjab. (A) TEeE .
(A) Pallavas (B) T
(B) Gujarat ©) el
(C) kKadambas
(D} Huns' (D) &
o) 2

L
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‘the number which jg o,
meng the options, Mot like the Other

'A) 1001
(C) 1010

(B) 1100
D) 111

g, Haryana is the firgt State to jaynch
(a) Satellite
f{” HFEEHI'I Eud’HE1
(D) Aryabhat

10. Gnnsjder the following with reference to the
term “Sovereign Siate"

(A) A Country can be a sovereign with or
without dominion of any other nation

(B) Sovereignty is compromised while
getling membership in the UNC

(C) Both are right
(D) None

1.  Solutions of the equation
v5x? - 8x + 3,/5 = 0 are

(A) V5, % (B) 5,3
(C) /5, 345 (D) 4,2

12. Prabhakara Vardhana, the first king of
Vardhana dynasty was the ruler of

(A) Thanesar (B) Kurukshetra
({C) Geeta Vardhana (D) Patna

13.  Which of the following Article provides that,
‘The State shall not discriminate against
any citizen on grounds only of religion, race,
caste, sex, place of birth or any of them' ?
(A) 13 (B) 14
(C) 15 (D) 16

14. Governoracts as the nominal head and the real
power of administration of the state lies with

(A) Prime Minister (B) President
(C) Chief Minister (D) People

8.

10.

11.

12.

13'

14.

GET IT ON
Google Play

472018 (1) (M10)
18 T yra w5 < Fewedt § A A
TEl &1
{A) 1001
{C) 1010
sfmmom ____  ——
o= &

(B) 1100
(7)) 1110

ﬂﬁwﬁw

10
(c) =HiEE 2
(@) 15 T
JBx? — Bx + 3+/5 = 0 FHIHW

3

(A) ﬁ.?_g (B) 5,3
(C) /5,345 (D) 4,2
TR T, FE I ORen e
=1 W 97
(A) 9T (B) FH&T
(¢) e ada (D) W&
freferfiga o & FH-a1 sy TEUR Fal

& & e wd, Fw, for, s, a=f & e
% FATaR T T i =1 Sfaa T8 w7

(A) 13 (B) 14
(C) 15 () 16

T T8 AT T o w0 e e & ol
U= W i At A 36 4 fifea 8
(A) T (B) Trgfd

(€) el (D) =
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18. Al

19.

18 (1) (M10)
df:} I¥ IEII::PME' can be coded as ‘34" then "TWO'
can be coded 88
(A} 50 (B) 48
(C) 58 (D) 68

16. A current of 0.5 A is drawn by a filamant

17.

of an electric bulb for 20 minutes, find the
amount of electric charge that flows through
the circuit,

(A} 300 Coulomb
(B) 600 Coulomb
(C) 2400 Coulomb
(D) 20 Coulomb

Readthe fellowing staternents with reference
to Liaatures of Kashmir Himalayas.
I They are famous for Karewa formations.
. Karewas are the thick deposits

of glacial clay and other materials
embedded with moragines.

lii. They are useful for the cultivation of
Zaffran.

fv. Srinagar, the capital city of the state
of Jammu and Kashmir is located on
the banks of Jhelum River.

Select the answer code
{A) 1, li and jii
(C) all the above

(B) il, iii and iv
(D) i and iv only
triangles are similar,

(A) lsosceles

(B) Equilateral
(C) Obtuse angled

(D) Right angled

In 2016-17, Haryana GSDP is growing at

(A) 6.7 percent

(B) 7.6 percent
(C} 8.7 percent
(D) 10 percent

15,

16.

17.

18.

18,
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Im il
ﬂ'D”E' FHZ 3¢ 4 5 wo T E
(A) 50
(B) 48

L e T & o e B

i, e e g et @A e
= TeTe T A A E |

i, 3 S o 3o % e I R |

iv. m,ﬂﬁmﬂmw
T P

IR FE U ;
(A i, i ST i (B) i, il 3 v
(C) ot (D) il 3 v FE

i PmawwaEmE
(A) THEsTg

(B) #H=Tg

(C) sft=m

(D) HHeRT

2016-17 4, el $1 GSDP

Wy W R

() 6.7 wiemm
(B) 7.6 Wiwm
(C) 8.7 vfdum
(D) 10 9fism=


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ihe ancise
indout the
out of the following

i, High speed diesel
G Aviation Turb
ji, Petroleum crude

iv. Motor spirit of patrol

vy, MNatural gas
ven below
Choose the right answer g
(A) I iiand i (B) i, il and v
(Cy |1, i, i and i (D) All the above

2. The equations ax + By = 1‘m'ﬂ9'f-x-1 =0
represent the same lineita=
(A) 1 {B) -1
c) & (D) None of these

99, Consider the following :
1. Sambhar lake iz a salt lake.
8 Chilka lake is a fresh water lake,

Which of the above Is /are comact 7
(A) 1Tand2 (B) 1and3
(C) Allthe above (D) Sonly

23. limcot A =n, then the value of
msinhuncﬂsﬁ.is

ncos A +msinA

n+mt 2
A m* —n®
i e B
g =i W

24, Haryana is situated betwean |
(A) 27° 37 to 30° 35 Morth latitude
(B) 37° 37" to30° 35 North latitude
(C) 47°37' ta30° 35' North latitude
(0) 57237 10 30° 35' Morth latitude

3. Vembanad lake is a back water lake,
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20. e Tt ST YAl Tl it
‘Hﬂﬁlﬁﬂ%ﬁﬁﬁﬂmﬁ’r{-ﬁﬁﬂﬂ
=ed, T i
i = i doe
Il. 329 TWig 9 (ATF)
il = W
. ﬁlﬂ‘lﬁ?{cmﬁﬁa
v, WA
aﬁﬁm#mm:mﬁhq
(AY 1, i3 il (B) i, iii 3T v
(C) ii,iisRiv (D) 3w e

21. HHE ax+ 9y =1 Eﬂl&y-:—1 =0 THEH
T A TR =
(A) 1

(c) 8

(B) -1

(D} 8 & = 7

22, Tr=fafas w FEw = -
1, F s FEvE e R
2. e wie W12 ol < 2im R
3, Hure e Tre v e R

TATEE-m A 7
(A) 132 ®) 133
(C) T mefi (D) Fa= 3
23, T mcot A=n,dr MSINA-ncosA
LIEE S ncos A +msinA
n +m? o
Wi Bty
m —p? -
{E} 'F'I'I=+I'|E ) {D] m_'_i
24. wfemon 5w T 2

(A) 27° 37" ¥ 30° 35" Il HEW
(B) 37° a7 ® 30° 35 Il W

(C) 47° 37" @ 30° 35 It 4GV
(D) 57° 37 ¥ 30 35 Il A4
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-2 British Hiﬁmftn

m;;?nr].f into thrée parts, l&-
IEI-I ™ .q

Hindu pushim and British *

(A) James pilt |

(B) Warren Hastings

(C) Sir Thomas smith

(D) Annie Besant

' d girls on the
. ed some boys an

m;; r;;nhiﬁ 5o, The number of boys was
2 Jgss than fhe number of gir's. He gave
Rs. 10 to each bay and As. 20 to each girl.

if the total amount distributed by him was
Rs. 280, the number of boys was
(A) 25 (B 10

ic) 8 Oy 15

o7. Two coins are tossed simultaneously. The

probability of getting exactly two head is

® )%
o K

(A} 1

c %

28. Three cubes each of side 5 cm are joined

endtoend. The surface area of the resulting
solid is

(A] 15cm?

(B) 175 ecm?

(C) 350 cm?

(D) none of thess

Rabi crops are sown at the end of
(A) October

(C) Dﬂﬁmhsr

{E'] Mﬂ'u'E]']‘ber
(D) January

29,

30,
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Eﬁmw% %%’ﬂ*mﬁmm.“
o 1 L @%ﬂﬁ%&“%
(A) = fir
(B) alGT By
(C) ¥ Ui iy
(D) wHt

H@Tag‘l%&fﬁz itaﬁ'
FE. 10 ﬁm%ﬁﬂﬁmé

T T AT ey oy,
T e 2 - 280% &
(A) 25 '

B) 10

) 8 D) 15
a1 foret %) vy
AT, | R
(A) 1 (B) }45
© b o X
5 |l o1 @t A 5
%Im-mmm%m?ﬁmw
(A) 15¢cm2
(B) 175 cme
(C) 350 cm?
(D) 5 & Frd 3¢
) v ¥ s
Elnikd
(A) R (B) TEm
(C) femen (D)
Tafereen an afteeft 3 &9 =7 2018 WA
w___ﬁ[ﬁmrrml
(A) TTEeRe Becg . AT
(B) ﬂTﬁﬁEﬁ
(C) Torra T

(D) < 1. Eie
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32

It p*—Bp + 7 is divided by p — 1, the
rematndar will ba

(A) Positive

(B Fero

(C) MNegative

(D) Mone of these

The most important distinguished feature
ol the Federal lorm of government is

(A} Hawving Supreme Court in each
State

(B) Having two citizenship, one at the

Central Gowv. and ancther at the State
Gowt,

(C) Distribution of executive powers
equally between Centre and States

(D) Etﬂhagﬂmrrmtsh'&sladwiﬂwmm
of seceding from the union or federal

IF'a' means '+, '’ means'—' ¢ means '+ and
'd means %’ then, 25 ¢ 5 d 8b10als=

(A) 55 (B) 40
(C} 44 (D) 45

S years ago, father's age i
S was 5
okd 8% hie 8on ang & g times as

fter 3 years,
3 times as old as hig ¥ he will be

31.
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=fa o7 — 6p + 7% p— 1 B Rrafam frm =
#, 0 T wom

(A} ETETE

(B) T3

(C) =R,

(D) =99 & =0 =

32, W ¥ Adm w=en 6 waitts fis afw

o rtiny s0n. Find the prasent
(A) 10 years
(B) 13 years
(C) 12 years
(D) None of thesa
f2isa zarm ot '
then vaie of g & F{ﬂ=4l_f‘.'+ﬁc—-ﬁa.
(A) 5
B

(C) 5/4 E‘D; iq
The Haryana Munici ;

pality (Ame
Was passed during the yéaf -mm} e
(A) 2014 (B) 2015 -
(C) 2018 (D) 2017

'

et ferdrem &
(A) e U= et =

(B) =1 =erfverand &, :
a@ﬁrﬁqmaﬁﬁ %2 TR wi

(C) ﬁﬂﬁnnﬁ%mmﬁmmﬁaﬁ

T g
(D) T T e 1 v
TUF B4 i 2 ﬁ
3B AR AT A b s o
. =, 'c' e
S e D b W EEEEdEh1ﬂaIE=+
(A) 55 (B) 40
(C) 44 (D) 45
3. 5 Tt ud firm
193 i =i ?
A} 1034 Ehde
(B) 13f
(C) 1234 ’
D) & wH
35. TRo =
%jﬁﬂ?}ﬂﬂﬁx—ﬁnmﬁ*ﬁ
A 5 (B) 4
LQLMEM D) -4
36. BRI (dh) Rl
= % S wiiE frm
(A) 2014 - (B) 2015
(C) 2016 (D), 2017
J
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a1,

(D) Ram !

mmmmhhisdmmntmm$
amang the four options

(B) Paper

(D) Cook

Find
threg
(A) Ink
(C) Penci
Bhuteshwar temple I8 situated in the
district of
[A) Bhiwani
(C) Jajar

Bugyals, a unique type of vegetation found
in Himalayasis the
(A) Summer grasslands in the Himachal

(B) Jind
(D) Panipat

region o
(B) Summer grasslands in the Sikkim
Himalayas
(C} Summer grasslands inthe Arunachal
Himalayas

(D) Summer grasslands in the Eastern
mountains

The solutions of systam of equations

ax+by-a+ph=q i
s = El"l'ljh:i: &'f‘ﬂ—-h_-‘ﬂ

(A) X=a+b,y=a_p
B) x=-a4py
) %etyrs
(D) }'::ﬂ.'_u':

=—|a_-h
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3. ﬁﬁ!??ﬂaﬁ:ﬂﬁgzmﬁ: Uity
1. 50 =+ ,
AT
2. ¥ TR i 3ty
ﬁmﬁmﬁl g
3. U WS sy g
|ET FE | AT v
7 gafia =i &
(A) 1o Tl @
(B) =t 21, 9EE
() N S
(D) ﬂﬁﬂ'ﬂﬁﬁiﬁlﬁ

sp, = Fe e = P a0 sy
CgfiR?

(a) TE (B) =HrTH
(c) e (D) =g

39, RTEL AR foret 1 fum 3
(A) Trar (B) i
(C) #=1 (D) 9HE

a0, e, femme ¥ AT S Al U s
WER F T

(A) TEmrerg & ey T & fem

(B) Tfaerm fewrera o ooy umg ¥ e
(C) e Temmer | iffwy ug % oW
(0) efl wefeea 4 sy v 3 e

4. R ax 4+ by — @ 4 b = 0 3 bx -3y -
E—bzﬂ‘mﬁw%ﬁa

{A} x=a+h-1u"=a-b
:E} X = ‘-E.-I-hly=___a_b

{D} x:tjly__ﬂ
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 amfmEm

aTET # sTadEE w9 ot wihEe
arETTEaTEl & o otee =E .=
aqafen = gam w6t ghem s
' 21

vz wri = i ¥ fore e e
. “ﬁgrmm Ha3ens = TEEa 3§
; |

T 0 H -1 R 7
35 31 W HeEwT AT Wi i
ST 6 T R e
9 1 A HE Afafy
T AT W WEY T R

dia Ac

(B) Twaw

.".] e (D) femm
o MQ, 7,
- H " AR HL, 08, vz % g w (o) 3

(A) T

D) TY
(A) 46, mmm t
:g: Vo e v (A) e
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(D) Oshg (B) Tas iy
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icter (B) Chief Minister

ing with their pairs.

 JG...

dget for 2017-18 was
(D) Home Minister

1. Blanket of air which
surrounds the earth

2 Domain of water
Gravitational force of
the earth

. Our surroundings

Namrow zone whare
land, water and air
inderact
Helation between tha
organisms and their
surroundings

-3 V-g
=1 V=4
2 Iv-3

V-4

5 s 1o

-10-
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il
= 1Y

©) rmaist e

(D) aq, 7, W, =@ :
* mﬂﬁﬂq-mﬂﬁmﬁm

(A) 1,1,2,2,3.3 .-
(B) 0.3, 0.33, 0.333, ...

L
{G} 2'4' B....

D) 3,12, 427, J48,...
40, 201718 FRmERAIE TR

g1 9 T @ ;
() T (B) Tt
(©) wur! (D) e
50. Frmfeiiad 1 37 i & fresu)
| SeEeE 1. P sERaweER
T 1 A=
Il AFFEA 2. el %1 S
N, Sewe 3. g} 1 e 99
V. e 4, TR =1 &7
5. T &, e i, 99
¥R 91g A
ETnh
6. a1 afi It =i 3l
% o9 ey
IW F2 AT
(A) 1-2 1-5 W-3 V-6
B) 1-5 Ji-6 WM -1 IV-4
) I=-1 -4 W-2 V-3
D) I-5 N=1 m-2 -4

51, wmimfisisd @
(A) B T 9aT T
(B) wafa =7 yan v
(C) = me =7 yay &y
(B) T %7 GaT ST
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52. Find the missing number in the sequence
4,9, 16,25, 36, 7
(A) 47 (B) 49
(C) 72 (D) None of these

54. Prithviraj Raso was written by 53.
(A} Sursagara (B) Chand Bardai
(C) Panipath (D) Geethagovinda
54. What are the values of y if the distance | 54 afz fagati (2,y)
between the points (2, y) and (- 4, 3) is 107 Wy FARFE 7
(A) 11and-5 (B) 2and3 (A) 113 -5
(C) Oand 1 (D) None of these (C) 031
55. Kavi Maldevwasa poet | 55. =y Tered wf@ &
of Haryana. |
(A) Sanskrit (B) English (A) HEhd (B) * .
(€} Urdy (D) Hindi C) 7 (@)
56. The capital city of Haryana is 56, i H =T 8
(A) Ambala (B) Chandigarh (A) SFETE (8)
(C) Rohtak (D) Karnal (c) Uz (D)

§7. A certain number is 4 times the sum of the | - §7. T HET ST i g
digits. If 18 is added to the number, the digits 78 5= 1 18
get interchanged. Then the number is T8 1 F50

(A) 42 (B) 24 (a) 42 |
(C) 36 e (D) None of these (&) 36
5. The non-metal which is liquid i Rature is
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§1. An imags formed BY ap
always
(A) liusionary mage
(8) Virtual image
(C) Real image
(D) Reffection image
G2 iFAugmiE?“wnsMnnda}r.meni-l“‘ﬂfmat

month was on
(A) Monday (B) Tuesday
(C) Wednesday (D) Friday

§3. The state bird of Haryana is
(A) Peacock {B) Parrot _
(C} Pigeon (D) Black Francalin

a governor of Haryana is appointed by
{A) Prima Minister (B) Prasident
(C) Chief Minister (D) People

65. Goddess Bhawanl Amba temple is in
(A) Rohtak District (B) Manipur District
(C) Ambala District (D) Gurgaon District

66. Haryana is called as the
(A) Land of temples
(B) Land of flowers
(C) Breadbasket of India
(D) Pious state

67. Star monument is the Samadhi of
(A) Tarachandji Maharaj
(B) Narayana Swarni
(C) Shivaji
(D) Govindh Singh

68. Which type of soj
h
holding capacity 7 "9 ohest water

(A} Sandy sl
(B) Clay soil
(©) Loamy soij
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(
(D)

Choose the correct meaning of the underlined
from the given options.

77. He is now a gentleman at large living as

best as he can.
(A) Dominating

(B) At liberty

(C) A person without any serious ocoupation
(D) Ordinary and undistinguished

. A sensible man, as a rule, cares much for

public opinion,
(A} Whatever may be the cost
(B) Whatever may happen

(G} In reality
(D) Usually

i = e
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80. 'wIft v W wEEE O R ﬂaggmwmﬁmﬂﬂ ﬂ
(A) ErefrT (B) wrdt I
©) st i i m:EﬁﬁW|
i _ (B) = T
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8. ﬁﬂm@ﬁmﬁt’:ﬂmﬁmm 8a. 'ﬁ+ﬂﬂﬁ=ﬁﬂﬁmmt?
e it ) () = Ay (8) T EY
(A) TS w0, FHaw, i, (C) i wfiy (D) FreEH

=
(B) T, ““:“'ﬁﬁm:m 84, ﬁﬂﬂﬁmﬂ;ﬁﬁ aifir '., y
(C) wfaaTe Hal, saiwws, i, e iR e 8 7 14 Bld &, 951

T
5 . (A) Tem
fFaETas aam, m. ﬁfﬁn, (B) T=ifE
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(A) wTiw B)
(C) I (D) e 0.
B4, Fimfeiflam 4 wiva &1 wfrarh v 1 2
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(C) T (D) afy
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